Lesson 3
[image: ]Goal: Solve problems involving surface area calculations using  Imperial & SI measurements.
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Surface area  =  Area of the base (square) + area of the triangular faces
                        = side x side +  4 x ( base x slant height / 2)
                       = 12 x 12 + 4 x ( 12 x 21 / 2)
                      = 144 +  4 x 126
                      = 144 + 504
                     = 648 cm2

[bookmark: _GoBack]Book Practice questions p. 171-172 #1, 3,4 & 5







image7.png
" SA=mnr’+ nwrs
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= 28.26 + 47.1

= 75.36 m?
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Find the surface area of the sphere.

N\ SA = 4rr°
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N izem 4(3.14)(36)

452.16 cm?
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JSyramid

SA = Area of Base + Area of triangular faces
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Determine the surface area.
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Surface area is the total area of all of the faces
of the object.

SA = Front & Back + Side & Side + Top &
Bottom

1
I
|}
1
1
I
1
1
p

Front / Back Side / Side Top / Bottom

A=LxW A=LxW A=LxW

A=5x7 A=3x7 A=3x5

A=35 A=21 A=15
x2 X2 x2

70 42 30




image2.png
SA=70+42+30
SA =142 ff?
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SA=2nr’+2nrh
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SA=2(3.14) (5)* + 2 (3.14)(5)(9)

SA =2 (3.14) (25) + 2 (3.14)(5)(9)
SA =157 + 282.6
SA=439.6 m?
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